WTNJ-FM Order Confirmation



Southern Communications Corporation:

306 South Kanawha Beckley, WV 25801 (304) 253-7000

Sponsor:

1081-002

Product:

P-Debbie Blake Hendrick P-Debbie Blake Hendrick

Estimate/PO:

AccountRep: BillingCycle:

Hodges, Darlene Calendar Month

InvoiceType:

Detail

Run Dates:

4/18/2022 - 5/10/2022

Items Ordered: 28

Ordered Amount: \$336.00

DEBBIE BLAKE HENDRICK 116 MARY LANE **FAYETTEVILLE, WV 25840**

> Scheduled Station(s): WTNJ-FM **Fayette County Circuit Clerk**

	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Fri	Sat	Sun	Week Total	Length	Descripti	Avail Type	Copy II)	Qty	ttem Cost	Total Cost
1	4/18/2022 - 4/22/2022	All Weeks	06:00 AM - 10:00 AM	2				2			4	:30	Spot		P1081-	201	4	12.00	48.00
2	4/18/2022 - 4/22/2022	All Weeks	03:00 PM - 07:00 PM			2					2	:30	Spot		P1081-	001	2	12.00	24.00
3	4/25/2022 - 4/30/2022	All Weeks	10:00 AM - 03:00 PM		4						4	:30	Spot		P1081-	001	4	12.00	48.00
4		All Weeks	03:00 PM - 07:00 PM				4				4	:30	Spot		P1081-	001	4	12.00	48.00
5	5/4/2022 - 5/4/2022	All Weeks	10:00 AM - 03:00 PM			2					2	:30	Spot		P1081-	001	2	12.00	24.00
6	5/6/2022 - 5/9/2022	All Weeks	06:00 AM - 10:00 AM	4				4			8	:30	Spot		P1081-	001	8	12.00	96.00
7	5/10/2022 - 5/10/2022	All Weeks	10:00 AM - 03:00 PM		4						4	:30	Spot		P1081-	001	4	12.00	48,00
_	Calendar Month Proj	ected Billing:																	
	Apr-22	168.	00 May-	22			168.0	0		Ji	Jn-22		(0.00		Q2-	2022		336.0

Confirmed Correct; Payment Guaranteed

Accepted for WTNJ-FM

Southern Communications Corporation Spot Broadcast Order Form (Last Update: Monday, April 11, 2022)

Select and	d Station	or Statior	ns for thi	is orde	r. NOT	_	PORT	_	ΓE, the	orders	MUST	T BE IDE	ENTICAL!	
WAXS-I WCIR-F WBKW XWTNJ-I	:M =M	Rate: Rate: Rate:	\$ \$ \$ \$			ustom	ner Nai	me:		ary Lai	ne Fay	etteville	e, WV 258 Idk@gma	
*Order St	art Date _4	/18/22			<u>M</u>	٦	Γu	w	Th	F	;	Sa :	Su	
*Order Er	nd Date _5/	10/22			М	1	<u> </u>	W	Th	F	;	Sa	Su	
*Total # S	ipots this o	order: 28						*Tot	al Dolla	ırs thi:	s orde	r: \$ 336	.00	
Campaigr	n Description	n, if appli	cable: V	ote Fa	yette C	County	Circuit	Cou	rt					
*Revenue	duct(s) adver e Type: √1 n: t Rep:			h	T - Tr	gs if ot				10.2				
*Billing C	ycle: √1		oadcast endar M		Month		Wee	of Sch	iedule					
Purchase (Order / Estim	ate #:												
*Billing Ba	nsis: (√ One) This onthly) Pack	is the ON	LY optic	on for C	о-Ор о	rders.	Per SI	POT F	Rates mu	ust be (entered	d above.		
□ Variable	Package (No Jan	ot to excee		onths, b		nclude b	•		s at begi	•	nd end ar	of sched	ule): \$	Apr
\$	May		\$		Ju	n :t		\$		Ju	l ov	:	\$	Aug
Φ	Sep		<u></u>				HEDU	<u> </u>			JV		Φ	Dec
Di	ates	Tim	nes	Unit				AYS				Total	Rate	ı Total
Start	End	Start	End	Length	MON	TUE	WED		FRI	SAT	SUN	Spots		
4/18	4/22	6:00 am	10 am	30	2				2			4	\$12.00	\$48.00
4/20	4/20	3:00 pm	7 pm				2		1			2	\$12.00	\$24.00
4/26	4/26	10:00am	3pm			4			+			4	\$12.00	\$48.00
4/28	4/28	3 PM	7PM					4	+			4	\$12.00	\$48.00
5/4	5/4	10 AM	3 PM		4		2		 			2	\$12.00	\$24.00
5/6	5/9	6 AM	10 AM		4	4			4			8	\$12.00	\$96.00
5/10	5/10	10 AM	3 PM	-	 	4			+		\vdash	4	\$12.00	\$48.00
									+					
									+					
									+					
	<u> </u>	 		-			l .			1	<u> </u>	+		1
Salespers	on				//_	_		Sale	s Manad	ier				// Date

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

check applicat	ile box) RAL CANDIDA	ATE	X	STATE/LOCAL CANDIDATE							
To Av Windo	ail Themselve w, Federal Ca	s of The Low ndidates Mu	vest Un st Sign	ilt Cha The C	rge During a Certification	a Political On Page 3					
Station an	d Location:				Date						
I, Debbie	BLAKE HE	NDRICK				-					
qualified candid party for the off in the May election to be h	date of the Dam icc of: FAYETTE PRIMAR eld on: May est station time as f	10,2022	CIRCO)r C	CERIC	, a legally					
Broadcast Length	Time of Day, Rotation or Package	Days	Cla	1\$\$	Times per Week	Number of Weeks					
30 sec.	See	, a	Hac	be	Sche	dule					
Total Charg	es:										

For programming that, in whole or in part, "communicates a message relating to any political matter of national importance," list the matters below:
I represent that the payment for the above described broadcast time has been furnished by:
DEBBIE BLAKE HENTRICK
and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.
The name of the treasurer of the candidate's authorized committee is:
DENISE A. LIGHT
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.
To Be Signed By Candidate or Authorized Committee
4/7/22 Willie Blake Hendrick
Date Signature
To Be Signed By Station Representative
Accepted Accepted in Part Rejected
Continuity Fried Name Traffic Title

Copyright ©2011 by the National Association of Broadcasters. May Not Be Copied, Reproduced or Further Distributed